Office of the State Comptroller

PAYROLL BULLETIN

Bulletin No.
P-432
Changes in New York State, Date
City of New York and City of
Yonkers Withholding Tax June 20, 1985

New York State, City of New York and City of Yonkers withholding taxes
will change effective for Institution payroll checks dated July 3, 1985 and
Administration payroll checks dated July 10, 1985.

The changes include:

1. New York State resident and City of Yonkers resident taxes now
have separate tables for single taxpayers and for married taxpayers.

2. .The deduction allowance tabTle has been changed. The deduction allowance
for State and City of Yonkers is now a single amount of $76.90 for married
taxpayers and $67.30 for single taxpayers. -The New York City deduction
amount for both married and single taxpayers is $71.20.

3. The exemption allowance for all three taxes has been changed from
$31.00 to $33.00.

4. New tax tables have been established reflecting a decrease in tax rates.
Copies of pages from the revised Tax Booklet are attached.

In order for this office to process this change on the required date, the
marital status the employee is currently using for Federal tax will be applied
for State and City of Yonkers tax. If the employee wishes to claim a different
marital status for State and City of Yonkers he or she must complete Form
IT-2104.

If an employee completes Form IT-2104 for a different marital status,
submit an AC-1040 with code 524 in a "Code" Block and a S or M in the "Amount"
Block.

City of New York non-resident and City of Yonkers non-resident tax tables
have not been changed.

To obtain the Form IT-2140 and Withholding Tax Tables and Methods-
Booklet IT-2100.1 (5/85)-contact the Department of Tax and Finance at (518)
457-5510. \

Questions concerning this Bulletin should be directed to the Planning
Office at (518) 474-1246.

Attachments
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NEW YORK STATE, CITY OF NEW YORK and CITY OF YONKERS
SPECIAL TABLES FOR DEDUCTION AND EXEMPTION ALLOWANCES
alicable to Method II
for New York State, see pages 15- 16

for City of New York, see page 26
for the City of Yonkers, see pages 42 - 43

TABLE A Deduction Allowance Table

NEW YORK STATE AND CITY OF YONKERS

Payrall Period -

Weekly Biweekly Semimonthly Monthly Daily Annual
Single $33.65 $67.30 $72.90 $145.85 $6.70 $1750.00
Married 38.45 76.90 33.35 166.70 7.70 2000.00

NEW YORK CITY
Payroll Period

Weekly Biwesgkly Semimonthly Manthly Daily Annual

Sinala or $35.60 $71.20 $77.10 $164.20 $7.10 $1850,00

TABLEB Exemption Allowance Table
Based on a full year exemption of $850

Payroll Period Amount of one exemption
Weekly “$ 16.50
Biweekly 33.00
Semimonthly 35.50
Mgonthly 71.00
Quartarly 21250
Semiannual 425.00

_ Annual 850.00
Daily or misceilaneous 3.25

TABLE C Adjustment For Difference Between Federal and State Exemption Allowances

For employers who elected to use the Federal exemption amounts in computing wages after exemptions, the following adjust-

ments corrects for the difference between Federal exemption of $1,040 and the State or City exemption of $850, according to
the particular payroll period.

Muitiply the amount beiow for 1 exemption by the number of exemptions claimed. The product is to be added to the wages
aftar axemptions computed with the Federal exemption, to correct for the lower State or City exemption allowances.

Payroll Adjustment for each

Period Federal exemption

Weekly $ 375

Biweekly 7.50 Muitiply the amount to the left
Semimonthly 8.00 (for 1 exemption} by the number
Monthly 16.00 of exemptions. Add the product
Quarterly 47.50 to the Federally computed wages
Semiannual 95.00 after exemptions.

Annual 180.00

Daily or miscellaneous .75
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Method I SINGLE EXACT CALCULATION METHOD

This method is based upon applying a given percantage to the portion of TABLE Il E - DAILY PAYROLL

“a wages {after deductions and examptions) which falls within a wage If Wages are I The AMOUNT to be WITHHELD is the SUM of:
acket and adding to this product the given accumulated tax for ail lawer {after deductions

«ax brackets. After subtracting the amount of deductions {from Table A) and exemptions}| This
and the amount of exemptions (from Tabila B) on page 14 one of the JAmount tEn;em of Wages
following tables is used, depending on the appilcable payroil period. Linej At |[Butless | {tax- |PLUS| This OF .:;'::::,:ﬁ.";:'::
No. | Least | than lower Percant over this smount
brackets)
TABLE il A = WEEKLY PAYROLL Col.1 | Cal.2 [Col3 Col. 4 Col. 5
. 1 $ 0| %400 | $.00 |[PLUS| 2% |EXCESSOVER $0
If Wages are The AMQUNT to be WITHHELD is the SUM of: v " P
{after daductions' 2 | 400, 11.50 .08 3% ' 4.00
and axemptions}| This 3 [11.50 ] 19.00 <} " 4% " i 11.50
Amaount F‘;:lll “:: Wages 4 118.00{ 27.00 .51 ' 5% ' ' 19.00
Line| At |Butiess | (tax- | PLUS | This OF and trammiam 5 127.00 | 34.50 | 1.00 " 6% DR 27.00
No, | Least | than lower Parcent ovar this smount 8 |34.50 42.50 1.45 ' 7% ' ' 34.50
brackets) 7 |42.50 | 50.00 | 202 | ~ 8% B 42.50
Cot. 1] Col.2 | Cal. 3 Cal. 4 Cal, § 8 8000|5750 | 262 | 9% " 50.00
11501519 $ .00 | PLUS 2% |EXCESS OVER s 0 9 {5750 ]{andup [ 3.29 !’ 9.5% ' * 57.50
2 19 58 lag " 3% " " 1.5_-
3 58 96 1.55 ' 4% " " 58
‘ 96 1;5__3._07 e 5% L) ”
51135 173 5.02 " 6% :' " 135
6 173 212 7.30 . 7% : " T;’; ANNUAL TAX RATE SCHEDULE
T 212 250 10.04 * 8% * 2 It ANNUAL ; )
8| 250 288 13.08 " 9% M 1 250 WAGES (after The ANNUALIZED TAX is the SUM of:
] " T3 deducti d
9| 288 | andup [ 16.50 9.5% 288 “:;p‘:'l"o'n"'; g..m:.:f.u.
Line| At (Butiess | This PLUS This OF Annuglized Pay
No.| Least | than |Amount Parcent over this Amount
Coi.1| Cal.2 | Col. 3 Cotl. 4 Col. §
: ; $ ol ggg SO.DD PLUS g& EXCESS OVER $ 0
' 1,000] 3, 20.00f " ' ' 1,000
1180 % 38 $.00 [ PLUS 2% [EXCESS OyEFI $0 4 | 5000{ 7,000 | 16000 5% ' - 5,000
2| 38 | 115 8 | 3% - 38 5 | 7,000 9,000 260.00] * 8% o 7,000
3| 116 192 3.07 4% ' " 118 6 | 9,000( 11,000 | 380.00] * 7% ' ' 9,000
/192 | 269 6.14 . 5% M 192 7 [11,000[ 13,000 | 520.00] ~ 8% o 11,000
5| 269 346 9.59 8% " ' 289 8 |13.000| 15,000 | 680.00f * 9% " ' 13,000
6 | 346 423 14.61 7% ' * 348 7§ [15,000] andup | 880.001 - 9.5% - v 15,000
7| 423 500 19.99 " 8% " ” 423 . —
B | 500 577 26.15 ' 9% ' ' 500
9| 577 [ andup | 3308 " 9.6% * ' 577 The steps in computing the amount of tax to be withheid are as follows:
— Step (1) Dmrmln:)tht amount of deduction allowancs (fram Table A,
on pags 14),
{2) Muitiply the amount of one exemption (from Tabie B, on page
'14) by tha number of axemptions claimed.
(3) Add ths amount of deductions obtained in Step (1) to the
amount of exemptions obtained In Step (2).
{4) Subtract the amount of deductions and exemptions ocbtained In
Step (3) from the employea’s gross wages.
TABLE Il C — SEMIMONTHLY PAYROLL (5) Using the proper tabls In the Table || series (depending on ths
particular payroll period), find the applicabis llne on which the
1(8$01|% a2 $ .00 | PLUS 2% |EXCESS OVER $0 wages after deductions.and exemptions in Step {4) are located In
2| 42 128 .84 ' 3% . . 42 © gt:lhutl'l'lrést ]i;nd 2. 1 5 of this line # h
I 7] " ubtra & amou n column 8 o s [Ine from the amount
2 gg gg ggg v ;: " e ;gg of wages after deductions and exemptions in Step (4).
0 d £ (7) Multiply the remainder obtained In Step (6) by the psrcantage in
5| 292 378 10.85 " 6% ” ' 292 column 4 of this line.
61 375 458 15.83 " 7% " " 375 (8) Add the product [n Step (7) to the amount In column 3 of the
BT m m applicable line. This is the New York State tax to be withheid for
; ;ig g;g g;gg o gg " v 455842 the particular payroll perlod.
9| 625 and'ﬁn 35.83 ' 9.5% ' ** 626 EXAMPLE 1: (Weskly payrol)
Weakly gross pay of $200, Singie, with 3 axemptlons claimed:
(1) Deduction allowance ({rom Tabla A, page 14) = $33.65
(2) $16.50 {from Table 8, pags 14) x 3 = $49.50
(3) $33.65 + 349.50 = $83.15
(4) %$200.00 — $83.15 = $116.8%
{5) Line4 of Tabie I} A Is appiicable. {$116.585 Is between 396
and $135)
TABLE 11 D — MONTHLY PAYROLL (6) $116.85— 396 = $20.35
1 $ 00 PL 2% CESS $ (7) $20.85 x 5% (.05) = $1.04
2 $ 32 $ 2% 1_% ‘}JS 3% . " OyEFI §§0 (8) 31.04 + $3.07 = $4.1] (State Tax to be withheid)
i 3?? g;; 122; . :: gg :: :: 3?9 EXAMPLE 2: (Semimonthly payroif)
= 6% = m Semimonthly gross pay of $300, Single, with 1 axemption claimed:
5| 5831 750 | 11.65| ™ 'sl% - 883 (1) Deduction altowance (from Tabls A, page 14} = $72.90
6, 760 917 31.67 750 (2) $35.50 (from Table B, page 14} x 1 = $35.50
71 917 | 1083 43.36 . 8% " " 917 {3) $72.90+ $35.50 = $108.40
811083 1250 56.64 " 9% " ‘* 1083 {4) $300.00—%108.40=%191.60
911250 | andup | 71.67] ° 96% [ " - 1250 {5) Line3 of Table 11 C is applicable ($191.60 Is batween

$125 and $208)
{6) $191.60— $125 = $66.60
{7) $66.60 x 4% (.04} = $2.66
{8) $2.66 + $3.33 = $5.99 (State Tax to be withheld)
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Method

NEW YORK STATE

MARRIED

method is based upon applying a given percentags to the portion of

EXACT CALCULATION METHOD
TABLE 11 E — DAILY PAYROLL

wages (after deductlons and axemptlons) which falls within a wage Hf Wages are The AMOUNT to be WITHHELD is the SUM of:
bracket and adding to this product the given accumulated tax for all lower (after deductions{———
tax brackets. After subtracting the amount of deduetions (from Table A) and e“""m"’“’}ATh" e e
and the amount of exemptions {from Tabie B} on page 14 one of the . mount . {after deducnions
p . o Al licabl il tod Line} At |Butless | {tax- PLUS| This OF Sea[usametsons )
ollowing tables is used, depending on the applicable payroll period. No. | Least rhan lower Percent aver thin gmount
hrackets)
TABLE Il A —WEEKLY PAYROLL Col. 1| Col.2 | Col.3 Col, 4 Col, 5
1 Wagas are The AMO {THH is the SUM of: 1is 0% 7.501% .00 [PLUS 2% |excxss ovER $ 2]
Lo degductionl UNT to be W ELD is the SUM of 2l 750 | 10000l ‘15 o So i . 7.50
and exemptions)| This 3(19.00 23.00 .50 " 4% " " 19.00
Amount Excess of Wages 4|23.00 | 27.00| .65 = 5% " L 23.00
Line} At |Butless | [tax- | PLUS| This OF kel 5(27.00 | 34.50| .85 | 3 37.00
No. | Least than lower Percent aver this smount 6(34.50 42.50| 1.31 " 7% " LU 34.50
brackets) 7[42.50 | 50.00| 1.85 " 8% " " 42.50
Col. 1] Col.2 | Col. 3 Col. 4 Col. 5 SISO008| S0 2051 1) - | 30.00
2|57.50 [and up 3.15 " 9.5% " " 87.50
1| 50| % 38 $ .00 PLUS 2% | excass ovER $0
2 as 96 I7 " J% " " as
3 96 115 2.50 " 4% weoon 26
4| 115 135 3.27 " 5% " ” 115
E 135 173 4.23 " 6% t " 135
1 3 212 §.54 » 7% " 173
27 2 ‘ : " ANNUAL TAX RATE SCHEDULE
7| 212 250 9.23 » 8% " " 212 T ANNUAL -
8| 250 288 12.31| » 9% " " 250 WAGES latter The ANNUALIZED TAX is the SUM of:
9| 288 | and up 15.77 " 2.5% " " 2838 deductions snd
axgmptions) &e;:lr :lo :a::mn
Ling At |(Butless | This PLUS This OF Annugtized Pay
No.| Least | than |Amount Percent over this Amaunt
Cal.1 | Col.2 | Cai.3 Col. 4 Cal. 5
1 ; Q| $2,000 i 001PLUS g% EXCESS OVER $s$0
2 ,00Q0| 5,000 Q.00[1 " % b » 2,000
TABLE II B — BIWEEKLY PAYROLL 375,000 56.500 | 3056 " 2500
1| $ 01} %77 $ .00 |PLUS 2% |mxcmss ovem $0 4| 6,000/ 7,000 | 170.00| " 5% ' ' 6,000
. 77} 192 1.54| " 3% — 77 5| 7,000} 9,000 | 220.00] * 6% " ” 7,000
192 331 soo yTy i 192 6| 9,000( 11,000 | 340.00| " 7% " " 9,000
«f 231 | 269 6.544 5% — 231 7j1,000| 13,000 | 4B80.00| 8% » " 11,000
5| 269 346 846 " 6% T 269 8113,000| 15,000 | 640.00{ ™ 9% ” B 13,000
6| 346 ) 423 13.08| " 7% e 346 9/15,000| and up | 820.00( 9.5% " " 15,000
7| 423 500 1846 | " 8% - 423 =
8| 500 577 24.62 . 9% R 500
9] 577 | and up 31.54 ” 9.5% " J“_ 577 The steps in computing the amount of tax to be withheld are as foilows:
Step (1) Determine the amount of deduction allowance (fram Table A,
on page 14).
(2) Muitiply the amount of one sxemption (from Tabia B, on page
14) by the numbar of sxemptions claimead.
{3) Add the amount of deductions obtained in Step (1) to the
amount of exemptions obtained 1n Step (2).
{3) Subtract the amount of deductions and exemptions obtained In
Step (3) from the smpioyes's gross wages.
ABLE Il C — SEMIMO 0 {5) Using the proper table in the Table |) saries {depending on the
T L NTHLY PAYROLL particular pavroll period), find the appilcabis line on which the
1| $ 0| % 83 $ .00 |PLUS 2% |Excmss ovem $0 wages after deductions and exemptions in Stap (4) are {ocated In
2 83 208 1.67 . 3% o) 83 - golumns 1land 2. , -
. ubtract the amount In column § of this line fram the amount
3 ggg ggg ;':g o ;:: e gg' of wages after deductions and exemptions in Step (4},
- 9_ (7) Muitiply the remainder obtained In Step (6) by the percentage in
5 292 375 Q.17 b 6% R 292 column 4 of this line, i
6| 375 458 14.17 . 7% — 375 {8) Add the product in Step (7) to the amount In column 3 of the
7| 458 542 20.00| * 8% [T 458 applicable line. This is the New York State tax to be withheld for
8| 542 625 26.67 ”» 9% LU 542 the particular payroll period.
9| 625 nd u 34,17 hd 9.5% D
and ue t 2 625 EXAMPLE 1: {Weskiy payrot)
Weekly gross pay of $400, married with 2 exemptions claimed
{1} Deduction allowance (from Table A, page 14) = $38.45
{2) $16.50 (from Table B, Page 14) x 2 = $33.00
(3) $38.45 + $33.00=%71.45
{(4) $400—$71.45 = $328.55
(3) Line 9 of Table I! A is applicable ($328.55 Is over $288)
T . YR {(6) $328.55 — $2E8 = $40,55
ABLE 11 D — MONTHLY PAYROLL (7) $40.55 x 9.5% ({.095) = $3.85
1| 8 0| 167 $ 00| PLUS 2% |mxczss oven $0 {8) $3.8% + §15.77 = $19.62 (New York State tax to bea withheid)
21| 167 417 333 " 3% L 167
| 417 500 10.83 " 4% room» 417 EXAMPLE 2: (Monthly Payroil}
y 500 583 14.17 - 5% N 500 Monthly gross pay of $1100, married with 1 sxemption claimed
‘ 583 750 i8.33| 6% Wl [ 583 (1) Dsaduction allowance (from Table A, page 14) = $166.70
6| 750 917 28.33 . 7% e 750 {2) $71.00 (from Table B, pags 14)x 1 = $71.00
7| 917 |1,088 30.001 B% ™ 817 (3) $166.70+ $71.00 = $237.70
8 E.oaa 1,250 53.33| ~ 9% "o 1,083 (4) $1100-—$237.70=$862.30 .
[ T {5) LIneé& of Table It D Is appticable ($862,30 Is between
9 [1,250 | and up 68.33 9.5% 1,250 $750 and $917)
{6) 3%062.30—8750=%$112.30
(7) $112.30x 7% (.07) = $7.86
{8) $7.86+ $28.33 = $36.19 (New Yark State Tax to be withheld)
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Method |11

""“his method Is basad upon applying a given percentage to the partlon of
3 wages {after deductions and exemptions) which falls within a wage
-racket and adding to this product the glven accumulatsd tax far all lowar
tax bracksts. After subtracting the amount of deductions (from Table A)
and the amount of exemptlons {from Taole B) on page 14 ons of tha
following tables is used, depending on the applicable payroll period.

TABLE It A — WEEKLY PAYROLL

If Wages are The AMOUNT to bs WITHHELD is the SUM of:
{after deductiong -
and exemptions) A;:l:m . Excms o Wooe
Lind At [Butless | (ax- |PLUS| This OF ool i
No.( Least | than lower Percent over this smount
brackes)
Col.1| Col.2 | Col.3 Col. 4 Col. 5
1 0 19 00 |PLUS 0.9 |EXCESS OVER [+]
2 19 58 17 ' 1.4 * - 19
3 58 96 72 " 1.8 " “ 58
4 96 135 1.40 il 2.0 " " 96
5[ 138 173 2.18 - 2.3 " " 136
8] 173 212 3.06 " 2.5 - * 173
71| 212 250 4.03 . 2.7 ” " 212
8| 250 288 5.06 " 29 * " 250
9 288 | 327 516 | 3.1 o 268
10| 327 365 7.37 ° 3.3 . ' 327
11| 365 404 8.82 N 3.5 " " 368
12 ] 404 442 9.99 " 3.8 * " 404
13| 442 481 11.43 " 4.0 " " 442
14 ] 481 andup | 1299 o 4.3 * " 481
TABLE Il B — BIWEEKLY PAYROLL
1 0 38 00 | PLUS 0.9 |EXCESS OVER +]
2 38 1185 .34 " 1.4 il ' 38
3| 118 192 142 " 1.8 ” " 1156
] 192 269 2.80 i 2.0 ' e 182
3| 289 346 434 " 23 " " 269
6| 346 423 6.11 " 2.5 °* * 346
7] 483 500 8.04 o 2.7 b ” 423
8| 500 8§77 10.12 r 29 i " 500
9| 577 654 1235 " 3.1 " - 577
1C | 654 731 14.74 *” 3.3 ' " 654
1M} ™ 808 17.28 " 3.5 " " 731
12{ 808 385 19.97 * 3.8 ' " 808
13| 885 962 22.90 " 4.0 - ' 885
14| 962 andup | 25.88 * 4.3 " " 962
TABLE i1 C — SEMIMONTHLY PAYROLL
1 0 42 .00 | PLUS| 0.9 |EXCESSOVER; a
2 42 |. 125 38 * 1.4 N o 42
3| 125 208 1.54 r 1.8 " ' 125
al| 208 292 3.04 d 2.0 " bl 208
5 292 375 4,72 " 23 " " 292
B 375 458 _8__53 " 25 * " 376
7| 458 542 8.70 " 2.7 ” ” 458
8| 542 6§25 10.97 b 2.9 ” * 542
9| 625 708 13.28 " 3.1 - ” 825
10| 708 792 15.95 " 3.3 * * 708
111 792 875 18.72 i 3.5 ” ” 792
12{ B7% 968 21.63 ' 3.8 i * 875
13} 968 | 1042 | 24.78 - 4.0 * - 958
1411042 andu 28.14 " 4.3 * ' 1042
TABLE Il D — MONTHLY PAYROLL
1 ol = 00 (PLUS| 03 [Excessover 0
2 a3 250 .75 - 1.4 ' ‘* 83
3| 250 a7 3.08 " 1.8 " " 250
4| 417 583 6.09 - 2.0 " " 417
5| 583 750 9.41 - 23 " - 583
b 50 8917 13.2 d 25 " i 750
917| 1083 17.43 * 2.7 - " 917
<t 1083 | 1250 21.91 " 2.9 * ' 1083
91125801 1417 2.75 - 3.1 I " 12680
10| 1417 ] 1583 31.93 ' 3.3 * ' 1417
11| 16883 ( 1750 374 * 3.5 " ” 1583
12| 1750 | 1917 43.26 - 3.8 il ' 1750
1311917 | 2083 | 49. " 4.0 - " 1917
14| 2083 andup | 56.24 * 4.3 " N 2083

CITY OF NY — RESIDENT TAX EXACT CALCULATION METHGD

TABLE Il E — DAILY PAYROLL

If Wages are The AMOUNT to be WITHHELD is the SUM of:
(after deduction:
and exemptions)| This
ot e
Linet At (Butiess | {tax- |[PLUS| This QF il
No. | Least | than blowerw Parcent :::'.- E;:::“:rt.::un::
racke’
Col.1 | Cal.2 |Coi.3 Col. 4 Col. 5
1 0| 4.00 00 IPLUS{ 09 |E£XCESSOVER 0
2 | 400} 11.50 .04 i 1.4 ' e 4.00
3 [11.50 | 12.00 14 " 1.8 " i 11.50
4 119.00 | 27.00 .28 ° 2.0 ‘ ' _13.00
5 [27.00 | 34.50 A4 ' 23 ) " 27.00
6 134.50 | 42.50 .61 ' 2.5 ' ' 34.50
7 |42.50 | 50.00 81 ' 2.7 " * 42.50
8 |50.00 [ 57.50 1.01 " 29 " " 50.00
9 |57.50 | 65.50 1.23 h 3.1 ' " 57.50
10 |65.501 73.00 1.48 " 3.3 * ' 65.50
11 |73.00 | 81.00 1.72 " 35 N " 73.00
12 |81.00| 88.50 2.00 " 3.8 " ” 81.00
13 |88.50 | 96.00 2.29 o 4.0 : " 88.50
14 196.00 and up 2.59 " 4.3 ' * 86.00
ANNUAL TAX RATE SCHEDULE
If Annual Wages The ANNUALIZED TAX is the SUM of:
{aftar deduction:
and exemptions) am;- of Texable
jon of
Lingd At |Butless [ This This Anﬂor:l":::l'w
No.| Laast | than |Amount PLUS Parcent OF over :rillAmount
Col.1 [ Col.2 | Col. 3 Col. 4 _Col.5
1 0| 1,000 00 |PLUS| 0.9 | EXCESS OVER 0
_2 1,000] 3,000 9.00 " 14 * - 1,000
3 | 3,000} 5,000 [ 37.00 " 1.8 " " 3,000
4 § 5000{ 7,000 | 73.00 * 2.0 * " 5.000
g | 7.000{ 9,000 |113.00 N 2.3 N " 7,000
6 | 9,000| 11,000 | 159.00 ' 25 ‘ - 9,000
7 |11,000( 13,000 | 209.00 " 2.7 " " 11,000
8 [13.000{ 15,000 | 263.00 - 2.8 ‘ " 13,000
9 [15,000; 17.000 [321.00 " 3.1 " ” 15,000
10 [17.000| 19,000 | 383.00 ' 3.3 " * 17,000
11 119,000 21,000 [449.00 " 3.5 N ' 19,000
12 [21,000| 23,000 |519.00 " 3.8 ‘ " 21.000
13 |23,000( 25,000 | 595.00 ” 4.0 B " 23,000
14 126,000 and up |675.00 ' 4.3 * " 25,000

The steps n computing the amount of tax to be withheid are as foilows:

Step

(1) Determina the amount of applicable deductions (from Tabie A
on.page 14).

{2) Muttiply the amount of one exemption (from Table B, on page
14) by the number of axemptions clzimed.

{3) Add the amount of deductions obtained In Step (1) to the
amount of axemptions obtained in Step (2).

(4) Subtract the amount of deductions and exemptions obtained In
Step (3) from the ampioyee’s gross wages.

{S) Using tha proper tabie In the Tabla |) series {depanding on the
particular payroll pericd), find the applicabie ine on which the
wages after deductions and exemptions in Step {4) are located in
columns 1 and 2,

(6) Subtract the amount In column 5 of this line from the amount
of wagas after deductions and axemptions in Step (4).

{7) Multiply tha remainder obtainad in Step {6) by the percentage In
column 4 of this iine. :

(8} Add the product In Step (7) to the amount in column 3 of the
applicable lina. This Is the tax to be withhsld for the particular
payroil perlod.

EXAMPLE 1: (Weskly payrall) X
Weekly gross pay of $200 with 3 exemptions claimed:

(1)

Daductlon allowancs (from Tabis A, page 14) = $35.80
$16.50 (from Tabie B, page 14) x 3 = $49.50

$35.60 + $49.50 = $85.10 :

$200.00—$85.10 = $114.90

Line 4 of Tabls I] A |s appticable ($114.90 Is batwaeen
$96 and $135 on Table I A)

$114.90-- $96 = $18.90

$18.90 x 2% {.02} = $.38

$.38 + $1.40 = $1.78 (Tax to be withheld)

EXAMPLE 2: (Semimonthly payroll)
Semimonthly gross pay of $300 with 1 axemption claimed:

(1)

Deduction ailowance (from Tabla A, page 14) = 377.10
$35.50 (from Table B, page 14) x 1 = §35.50

$77.10 + $35.50=$112.60

$300.00 —$112.60 = $137.40

Line 3 of Table I1C Is appilcable ($187.40 Is between
$125 and $208 on Table |IC)

$187.40— $125 = $62.40

$62.40 x 1.8% (.018) = $1.12

$1.12 + $1.54 = $2.66 (Tax to be withheid}



